SCOOTER




2019 ver.

13 U0iL.

2019 EBS 2111+8H 1% %2

SCOOTER



CONTENTS

SOt AHLE
g HSASLICH

O/X SEH

|SEOILE SR 0l A
= =g

<l

0
Olct 242t

BS #5520
pS|
S

E
AR

S0 E0t0F &

20
=

b

=R




U

) O E=ME & o

) &Eie (

20l Ct.

Helg
— Z% JI=0IXIg,

0
uir
Jo
<+

te] Hele o 19 58 2tkmOIC.

21

2. N2 H

Ol RUCH.

0 Jte 2M=S

EZ [ 010l €2 A= &dH=Z 2

Ml

=2Hez 2

JdeiB2 0l

20
A0

n0
uir
Jo
<+

EBS 2111k5H 2199742 by SCOOTER

£ XtXIotH,

| 2F 80%

ol
=
o+

N= &

OIF0{M RUCH

X2 20 =L

A

un

0
uir
10
<+

I el =

0l

wl

Z 0IF0M ULH 2

2 U

==

o
j—

ol

Y
RO
K-

]

Ok

K0
K0

10

tOH, STt

ol

ol

ol

t= 2

=

deiB2 P

n0
uir
Jlo
<+



JIZ2 A0l &XIOICH

o U=

o
s

o, —OllA

=
S

i 22kt

Ol 2o

P09, P15

'.

n0
-

X

KA

ol
|
<+

, =28 BE HO = B

a0
70

e}

nO
K0

<

=
1o

ol
ar
S
W
oF
B

0l
3K

01
s

Kl0

1o

<0

U

-
o

W

ok
E!

EBS 21228H 1%%2) by SCOOTER

Ct.

)
o
Mo

off HiCt=

==
S

= =
ass

&t

= dMulA2 3
— 00l 201720l DIE &

off =2

7.

ez

SX LHEOI

0
uir
J0
<+

8. EH OIAXI(17.3<10"W) >> X7 LS MILXI(4.4x108W) > &2 I KXI(2.7 <102 W)

d SIACH

AZRH E

= 2

A X2l THOI

!

9.

0
uir
J0
<+

te ol CHole

=)

P

- 389 HIls g 3

ni

ol SO, It d=20 ZS&EN

o
[

oz 20 AJI M

=
[t

~0
uir
Jo
<+



R

ol
my
o

X0
20

ol
ol
oy
xr

o)

EOIAN ME2 — XA &0l

=

i

_.JE

0l
X0
20
o1
o0
oy
xr

180
ol
o0
oy
xr

|

Rl
il
Yl

k

ol
ulo
Kl
Al

~

Rl

oczR

n0
uir
Jlo
<+

) 21%%2 by SCOOTER

o}

EBS 2111

)]
ok
Ko
B
,ID

b olol e &2t

=) XA (- 222 /

o=
oS

9

il

ol

oD
0

o1
Ok
20
00

-
o



B o Xl=

o 2

ou

06

07

08

09

10

FHl
2

HI12 22 0lEE =

N O/ X

A A2 SUE0IL X
2EOA éﬂé% g S0l 2loff 43t

O/ x

eco wnie
SIE YO3|e HS WH AEHO 20/ O/ x

O/ x

o B0l b
O/ x

FSH 219%7%2) by SCOOTER

O/ x

E XEW Z0ELZ 0IFHM UL

BeEe =
X7l =2 dUXee 45 Herer) O/ x

A OO0 4= tole =2 9

JIA0ICH. O/ x

C>
[—

k]
o

O/ x



|ZOolLt X

X0

B O Xl= At

1.

J

K= W= oK

U

ENet ol X

-

Kr

iy
0
]

X0
i
J

E
ol
a1
H
ol

8l
=

GtCH.

2 =0t 24 S0t e &

=)

Ol CHoIZ0l 9571

Ao &L

tLH CH

[[e]

0k

E)
X0
i

0l

70
K

std el Tl

ALt

H
ol

iy

[m]

H

ol

o0

—_

=

-

JK

==
o

0
uir
Jlo
<+

EBS 211:3H 219%7%2) by SCOOTER

l= A2 MM HEie S0ICH x

203

i
=]
o
<

ol

2 JIM &eel S0IC0h

B

=0

i
0l
ol
Il
=
of

oW

il
ar

00
1

Hr
ol
KU
0K

il
ar
_Jn_
K0
=3
JIJ

9]

0
uir
Jo
<+

X

= 52 WSAO0ICH

Jo 22 0|8E

SH
=}

4. dl

22 0l

S
S

Jlel

SH
=

a]

0
uir
J0
<+



= (a4

)

> W
O o -
- 1ol w
()
= oY
= un O
ol e - W
= ) =

> |

ol B - = D
K = _.MAo i) D

s &0 -—
mJ ol X 0 %m n
%0 ™ - U
~ mJ 33 Q_E 2 -m.ﬂ y
S 5 = ~ o
K = O oz Cd — !
o U < 1 .
= al & H m_m 0 —!hll—
jilg - 0] w KH —l—- @
- =R T 20 <0
o S e K . ~
oy S 2 = ou
ko ol ml_ nooe two 7)) mAla
Koo up 2B = T i)

w0 _ % — =)

W_m Rl wl n 0l
0 O w H K 7 © o
X0 o . a KF Kl = o K-
Ty _x_a 0 T W T
ol ol ur Ho f o =
7 ) o0 o0 B g o t
= o = < i i} < <+ R
o) © N~

oF
LS

Ot20t

—

—

HHX=2 & X
g= 0ol

X

210l CH.

3

[y

S

Ct.

—
—

ol <

M=z 7

3

[ty

SN

.l

2y

3

Al

ol
=0ICt.

(=)
=
T

Al CHITO
Al Thol= 0Ol

2|

R O XIOF X+ WWRHNUXZ Mt HU X+ WS XD ==

BtCH AIDI Ol

2|

e
—

o
—
(=]

8.



T

A
e

b ho
AL

X+S
=

& A Al

=22
S =

L

X
-

o

3

2 0IC.

n0
uir
Jlo
<+

EBS 211:3H 219%7%2) by SCOOTER

0l 26.2° JI=20{ ™ RUAOi

=
=
=

41

tde A s

=l
=)

10.



